451 Factoring Lab
Walk-through:








Dataset ( talent.sav

Use ( SES, locus of control, self concept, motivation, reading, writing, math, science, civics
Anticipating the Factor Structure:
1. How many factors do you expect to find when you factor the set of “personality” variables and "performance" variables together? Tell what variables do you expect to load on each below.

Principal Component Analysis: Use Direct Oblimin rotation
1. How many factors pass the λ > 1.00 criterion?  ______
2. How much variance is accounted for by these factors? ______
3. Is there any interest in considering a 1-more-factor solution? ______ Why or why not?
4. Is there any interest in considering a 1-fewer-factor solution? ______ Why or why not?
5. Pick one # factor solution and use the rotated structure matrix to interpret each of the factors. 
a. Use a cutoff of .40 for the following:

· Tell if each variable is “univocal”, multivocal” or “nonvocal”

· Tell if each resulting factor is “General”, “Group” or “Ill-defined” and if it is “unipolar” or “bipolar”

· How would you interpret or “name” each factor?

b. Use a cutoff of .30 for the following:

· Tell if each variable is “univocal”, multivocal” or “nonvocal”

· Tell if each resulting factor is “General”, “Group” or “Ill-defined” and if it is “unipolar” or “bipolar”

· How would you interpret or “name” each factor?

6. Which cutoff do you prefer and why?

Your Turn #1









Dataset ( clinical.sav

Use ( sepfam, findep, ruls, soss, frss, fass, stanx, tranx, dep, stress
Anticipating the Factor Structure:
1. How many factors do you expect to find when you factor the set of “personality” variables and "performance" variables together? Tell what variables do you expect to load on each below.

Principal Component Analysis: Use Direct Oblimin rotation
1. How many factors pass the λ > 1.00 criterion?  ______
2. How much variance is accounted for by these factors? ______
3. Is there any interest in considering a 1-more-factor solution? ______ Why or why not?
4. Is there any interest in considering a 1-fewer-factor solution? ______ Why or why not?
5. Pick one # factor solution and use the rotated structure matrix to interpret each of the factors. 

a. Use a cutoff of .40 for the following:

· Tell if each variable is “univocal”, multivocal” or “nonvocal”

· Tell if each resulting factor is “General”, “Group” or “Ill-defined” and if it is “unipolar” or “bipolar”

· How would you interpret or “name” each factor?

b. Use a cutoff of .30 for the following:

· Tell if each variable is “univocal”, multivocal” or “nonvocal”

· Tell if each resulting factor is “General”, “Group” or “Ill-defined” and if it is “unipolar” or “bipolar”

· How would you interpret or “name” each factor?

6. Which cutoff do you prefer and why?

Your Turn #2







Dataset ( personalsuccess.sav
Use ( from items “scs” to “debil”
1. How many factors do you expect to find when you factor the set of “personality” variables and "performance" variables together? Tell what variables do you expect to load on each below.

Principal Component Analysis: Use Direct Oblimin rotation
1. How many factors pass the λ > 1.00 criterion?  _____
2. How much variance is accounted for by these factors? ______
3. Is there any interest in considering a 1-more-factor solution? ______ Why or why not?
4. Is there any interest in considering a 1-fewer-factor solution? ______ Why or why not?
5. Pick one # factor solution and use the rotated structure matrix to interpret each of the factors. 

a. Use a cutoff of .40 for the following:

· Tell if each variable is “univocal”, multivocal” or “nonvocal”

· Tell if each resulting factor is “General”, “Group” or “Ill-defined” and if it is “unipolar” or “bipolar”

· How would you interpret or “name” each factor?

b. Use a cutoff of .30 for the following:

· Tell if each variable is “univocal”, multivocal” or “nonvocal”

· Tell if each resulting factor is “General”, “Group” or “Ill-defined” and if it is “unipolar” or “bipolar”

· How would you interpret or “name” each factor?

6. Which cutoff do you prefer and why?

